Teacher’s Tools® Chemistry

Electrochemistry:  Oxidation Numbers: Worksheet 1

1. What is the oxidation state of arsenic in H3AsO3?

(A)  +1                     (B)  +3                     (C)  +5                    (D)  +7
2. What is the oxidation state of nitrogen in HNO3?

(A)  +1                     (B) +3                     (C) +5                    (D)  +7
3. What is the oxidation state of nitrogen in NH3?

(A)  -1                     (B) -3                     (C) +5                    (D) +7
4. What is the oxidation state of oxygen in H2O2?

(A)  -1                     (B) -2                     (C) -4                    (D) +1
5. What is the oxidation state of hydrogen in NaH?

(A)  -1                     (B) -2                     (C) +1                    (D) +2
6. What is the oxidation state of sulfur in SO42-?

(A)  +2                     (B +4                     (C) +6                    (D)  +8
7.      For the reaction:         2Fe + 3CdCl2 (  2FeCl3 + 3Cd, which statement is true?

(A)   Fe is the oxidizing agent.

(B)   Cd undergoes oxidation.

(C)   Cd is the reducing agent.

(D)   Fe undergoes oxidation.

8.  In the reaction:                SO2 +  2H2S (   3S   +   2H2O

(A)   S is oxidized and H is reduced.

(B)   S is reduced and there is no oxidation.

(C)   S is reduced and H is oxidized.

(D)   S is both reduced and oxidized.
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